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wet foerea I ¢
Choose the correct answer :
15 ITaTeT AT GRS hel E3TT 2
When did the Jalianwala Bagh tragedy take place ?
(a) 15 srTEd 1919/15 August 1919 (b) 01 =¥t 1919/01 April 1919
(c) 20 S 1920/20 June 1920 (d) 19 S 1919/19 June 1919

2 ‘o AT TRaTE Y SiREe o A R
The author of the book titled “Lajja” is :

(a) et g/ Tehmina Durrani (b) i =/ Taslima Nasreen
(c) Ten T@m/Tarla Dalal (d) SR *[z2y/Banazir Bhutto

3. ot i fra g | fem R 2
In which state is Shri Harikota located ?

(a) TSR@/Gujarat (b) wfirerrg/Tamil Nadu
(c) ey wew/Andhra Pradesh (d) ¥ | =g 7E/None of these

4. T TN sTEEH! el T frem # 2

At which place is National Defence Academy located ?

(a) ¥&ugA/Dehradun (b) ==Té/Chennai
(c) wemare/Khadakvasla (d) =rTgvNagpur

5. #Fe aiy fra Tea § e ® 2
Name of the state in which Hirakund Dam is located ?

(a) SSrE/Orissa (b) weRTg/Maharashtra
(c) feer/Bihar (d) < wvJammu and Kashmir

6. 2012 T H B ATt Sl WA FEl WA S 2
In which city the 2012 Olympic Games will be held ?

(a) ufw/Paris (b) <iw/London
(c) fa=t/Sydney (d) 2= Tokyo
7. TS0 STE F K FME ?
What is the currency of Saudi Arabia ?
(a) fe=mDinar (b) =fw/Lira
(c) fam/Riyal (d) ¥ & =g TEi/None of these

8. 4% H ol WA AT T ¢
The oldest Veda is :

(a) ==maa/Rig Veda {b) sreiew/Atharva Veda
(c) |rmaw/Sam Veda (d) =erEre/Yajur Veda



9. tfea foraga vHi =1 Hey PR amag A § ?

Pandit Shiv Kumar Sharma is associated with which musical instrument :
(a) T=en/Tabla (b) foaw/Sitar
(c) Wr=/Sarod (d) EgvSantoor
10. & |1 1 §oE TH % fa =gAae oy ;R ?

What is the minimum age to become a member of Lok Sabha ?
(@) 21 @9/21 years (b) 25 =/25 years
(c) 30 =9/30 years (d) =7 | =1 €i/None of these
11, TreEAT %1 e A @ defia € 2

Rangaswami Cup is associated to which game ?

(a) FeaTerFootball (b) =refaTe Volleyball
(c) ®f=I/Hockey (d) 3 & =g 7E/None of these
12. geaft =1 ) e Wi § SN STelt FHedtIe T 5 AH # R 2

What name is given to an imaginary line which divides earth in two equal halfs ?
(a) =terw1 T@v/Latitude (b) == w@VEqQuator
(c) e T@n/Longitude (d) =79 | =g 7€1/None of these
13. T T T WrE e el Teell YR "igen ®i of ?

Who was the first Indian Woman to conquer the Mt. Everest ?
(a) @@=rare/Bachendri Pal (b) St Zamé/Junko Tabei
(c) 3w wFa/Sherpa Lakpa (d) T & =g T€1/None of these

14, =fSfem feg o d fem ® 2

In which state is Darjeeling located ?
(b) w. sT@/West Bengal

(a) 319\/Assam
(c) fafars/Sikkim (d) W wew/Uttar Pradesh
15. fadh 3ie ¥ o9l = | difeal T
Number of spokes in Ashoka Chakra in a tricolour :
(@) 12 (b) 18
(c) 24 d) 32
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Choose the correct answer :

16. =3 # forera uftae =1 =&y 741 B € ?

What is the nature of Electric Circuits for domestic use ?

(a) 4visF/Series (b) wTversFH/Parallel
(d) 379 & =g 78i/None of these

(c) fafga/Combination
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T 3aael T g S T wiate FEn g ?
Image formed by a concave mirror is :

(a) sy Virtual (b) =r=faw/Real
(c) =tu/Erect (d) T8 ¥ Fx¢ 7€T/None of these

A I Sa R e T AT o R 2
On which scale loudness of sound is measured ?
(a) wEHertz (b) #M/Mega
(c) fas@/Decibel (d) 37 & =% 7Ei/None of these

Ffraa R ® awg =t Reurfy % wftad= =t =0 we1 #2
What is called “change in position in a particular direction of an object” ?

(a) 3 Velocity (b) =T/Acceleration
(c) z=mm/Displacement . (d) =7 9 =g TEi/None of these
T o A fpe st g ¥ 2
How many litres are equal to'one gallon ?
@) 5 (b) 4.546
(c) 5.125 (d) 2.5
T A A Ft = Reat gt € 2
What is the speed of sound in air ?
(a) 325 H/A/M/Sec. (b) 332 wHt/A/M/Sec.
(c) 232 #Ht/&A/M/Sec. (d) 340 H/B/M/Sec.

. T T fie # 3 | F T wer s R 2

A moving body may not have which of the following ?

(@) 3mVelocity (b) wfmm/Momentum
(c) wifrs =1t /Kinetic Energy (d). feerfirst sssti/Potential Energy

TifeTm a-wEiye w1 W T T 2
What is the household (common) name of Sodium bi-carbonate ?

(a) %92 ¥ % HreyWashing Soda (b) @™ = HreyBaking Soda
(c) @ Fs/Common Salt (d) 378 & =g 7ET/None of these

Tt stffmsl # W R-1 vl uftafia s €2
Which of the following materials alters the rate of chemical reactions ?

(a) sT=v/Acid (b) SS/Catalyst
(c) am/Base (d) 3™ & =g 7/None of these

srrer™ fagurg ® T SR 9T qe i w0 e 2
Which is the main metal found in the Amalgam?

(a) drre/Brass (b) fe/Tin
(c) 9r/Mercury (d) @reviron
T At T w2

What is the chemical name of laughing gas ?

(@) e emamss/Nitric Oxide (b) =szw syaReE/Nitrous Oxide
(c) e HrY-3eFAEE/Carbon Mono-oxide (d) T & =g 7€1/None of these
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TS T TEERE g R ?
What is the chemical formula of Glucose ?

(a) CZHSOH (b) 6H1zos

(c) CH,COOH (d) 378 & =+ 7ET/None of these
FTEA 1 STET TTH A - R ?
Which of the following is an allotrope of Carbon ?

(a) wAR/Fluorine (b) Fz2/Granite

(c) #r/Diamond (d) ¥ | =13 T&1/None of these
TedrraietT | FrA-| @it oo T s ¥ 2
Which mineral is found in Haemoglobin ?

(a) wEFRERE/Phosphorous (b) =r=viron

(c) smfea/lodine (d) 37 & =g 781/None of these
HAE YRR T g8 9t wher FE-5 g € 2
Which is the largest Gland in the human body ?

(@) =mzTEE/Thyroid (b) freg=t/Pituitary

(c) @Fa/Liver (d) T8 & =g 7=1/None of these

YRR 5 yomedt = e F | e et s R 2
Which of the following controls co-ordinating activities of human body ?

(a) wr@E/Hormones (b) ¥wEVLungs
(¢) T&EI/Kidney (d) 379 | =15 7Ei/None of these

T e HA-u i Seg= w2
Which Vitamin is produced by Sunlight ?
(@) faarfa= ‘E'/Vitamin ‘E’ (b) farf= ‘A'/Vitamin ‘A’
(c) faarfv= ‘B'/Vitamin ‘B’ (d) fa=rf=s ‘D’/Vitamin ‘D’
Frefafae & @ g s WA W ET TR 2
Which among the following is the best source of Protein ?

(a) woe/Fish (b) T®/Beans
(c) Ta/Apple (d) =i/Butter
o SR R et € 2
Plague is a disease spread by :
(a) waEl/House Fly (b) w=sv/Mosquito
(c) Fw1/Dog (d) =EvRat

i e frefafen & g sfFna gm 2
Cell division takes place by which of the following process ?

(a) fe=ufa@/Heterosis (b) =T=A/Fusion
(c) wTzAfaE/Mitosis (d) T | =g 7E1/None of these
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Choose the correct answer :
36. 10.4 T, 40 k.. =t e whem 2
What percentage of 40 kg is 10.4 kg ?
(a) 26% (b) 24.6%
(c) 28% (d) 379 9 =12 7®i/None of these
37. af¢ 4a® + 1 = 501 & @ ‘a’ =1 =01 9 & ?
If 4a® + 1 = 501, find the value of ‘a’ :
(a) 4 (b) 5
(c) 6 (d) =™ | =2 7Ei/None of these
38. X2+ 15x + 56 % 1 TGS Fi11 ?
What will be the factors of x2+ 15x + 56 ?
(@) (x-=7)(x-8) (b) (x=7) (x +8)
() x+7)(x+8) d x+7)(x-28)

39. 5000 ¥. T 8% T | 2 TIET I WIHRN <A T &I 2
What will be the simple interest of Rs. 5000 at the rate of 8% for 2 years ?

(a) Rs. 1200 (b) Rs. 1000
(c) Rs. 800 (d) Rs. 750

40. T TeHT 2.5 foRHL 10 e # qu R ¥ Iueh! = TRt iy s s |
Find speed in km/hr. if a man completes 2.5 km. in 10 minutes :

(a) 10 f.#t. wia sevkm/hr. (b) 15 f.#. wfa sevkm/hr.
(c) 12 f.At. wfa s=km/hr. (d) = & =g 7E/None of these

41, 90 F =\ HgA HR 2
What is the formula for circumference of a circle ?

(a) mr (b) 2nr
(c) -23—nr (d) 2(m+r)?

42. frtafea fag & X 1 7 =0 g ?
What will be the value of ‘X' in the figure below ?

72° (X + 35

(a) 47° (b) 37°
(c) 38° (d) 42°
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A 34 {EA = %. 500; T = 20% O, fomma qea = 2
If Cost Price = Rs. 500; Profit = 20%, then Selling Price = ?

(a) 650 (b) 600
(c) 700 (d) 800

0.000064 =1 FH& @ F |
Find the square root of 0.000064.

(a) 0.08 (b) 0.8
(c) 0.008 (d) 0.80
afe frEt a7t =1 Qsrwet 144 o Hie ®, o TRt o A el 2

If the area of a square is 144 sq.m., then what will be the length of its side ?

(@) 12 Heymeter (b) 11 Hevmeter
(c) 13 HZUmeter (d) =™ & =13 781/None of these

T TeF T FE H @ e H w0 ¥ | O doF B wE wE § e awg e 2

Three boys can do a piece of work in 2 days. How long will it take one boy todo it ?

(@) 3 fe/days (b) 1.5 fE/days
(c) 6 feA/days (d) 4 fs/days
15 =1 15 fapea wfema € 2
What per cent of 15is 15 ?
(@) 15% (b) 1%
(c) 100% (d) 30%

TS THHI 9T 1 W ror 50° ¥, @ A Ho S 4 /9 g ?
One angle of a right angled triangle is 50°, what will be the measurement of third angle ?

(a) 60° (b) 50°
(c) 30° (d) 40°
Sin 90° =1 | :

The value of Sin 90° :

1
(@ 0 ®) 3
3
(©) 1 @ 7
(292 + (22 =1 | ¢
The value of (27)2 + (22)%is :
(@) 0 (b) 1
(c) 64 (d) =78 & =1s 7Ei/None of these
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